2ERZBHEFS (JASELE)
F47EILGEHAE KRS BHE
20225E8A6H (1)

BARABRENDRAE—F>2TEHDRE

—CAF R AVWT—

FE B (ENKXFE)
HTADE (R EHEREFHER)
A E HREU ARy IR —a>)




1. DB RLEW

MRORAE—F > TIRE 2 ERETS LT, BRAAREZEZBEHENRAE—F
ST AR DEINNRETIONIOWTHOMBEA*EBEZYIIMNERTTR
TH3,

/IR A (2003)

ALPERICEIPFEELFETIBZDAE—X> T HDRERSHAIC
H1=-YRE TAITIRIE/O—THEADEBNIRIDREDTD
R, 2ARY L TERURBIDMPUINRERINI-LRFIC, XUERES
RUBREHDEBWVICL->TELIREEESVV I RN,




1. AENDBERLE®W

Koizumi and Katagiri (2007)

SELHIlf BB SN -BEERICEETIL20EHFNAE—

134 A ¥ .Fa'iizat,’(to);')t %zi‘q‘%mb ¥, REIR

X7 hH
JIZHBIT5F

SR IERE Y, MG T, M RN EM IR T 11nEEZAL
Toth. £EEB B RETS :‘i ﬁaﬁ (time to speak by themselves) ¥100

tokend 7=¥) Ddysfluency markers¥ R, P~BRENXEINASN

/=. No. of pronunciation-error-free clauses per clause® # 5%
b= (X FNAKE).

LEINR




1. AENDBERLE®W

Koizumi and Katagiri (2009)

‘SELHIICEREIN-BFEFERICEET 231D EFEOMHMMMIABTRV
BR1E~3F £ 1182 NHEMEITAE

2T T A CEERFRILD) DR BE, FHIFM, EFET, RGBT,
BHXNIBIELXBLTOW

'ulb*%)‘@&ib‘%ﬂ'b FREXDORIZICIIFREH» 095

- IEBEYX, Y, BHXICIIFL—F A 70159 H 5

-7"-7"-L FEATH no)ﬁ‘*%timu*%“”&%&)% Y eV LEIRTIZHELT
230078, —MBILTB-HICIIBRDEIENI R 7ITH>WTH EREL




1. AENDBERLE®W

U E*BORAE—F T HDEZICEATHAEITHETIE, 1) BEER

B8N\ o7-927H 3

X T HDREFIRA-H

R R E->THY, Q) REAMICESRAE—
ZOEL+RDEILEAR,

ZZTARETKE, BRAABRENDAE—X> T HH1FEF W HHEIM %
BLTEDIIINRKETEDHN %, D) EPETOREEROLNEIRY
¥ (2) thinking timeZf#IBRBRABIZIICEII5RET — 920

L,

RITHAEEWTES ST 92 R_RTT 5,




1. AENDBERLE®W

JH—FIJTRXF3a>

ROl BAABKRENDRAE—X2I7HE, 1FX DM =B L TEE
X MY BT ENB AN LLDLIIRETEDH,

RQ2 LERQINFEEIL, IRIFHICI->TEDLIITERBDH,




2. F&

2.1 &hnF

R FEBTASARAE—F T HEE (%1) 2% L2021

3£

64 (B:04,%:64)

cSADRNILDBEERISG 1IEVRILNOBFERICAESE

BBEDIL SBNPFE2FDIRAD S, 1B ER LFEDIR B EF 54
VAE—X T HBEE R

MR T A MERRIZE D CEFROLANILHIEIL, BIDT A ITHNT-
20212 A5 TA2H%44,B1H%24




X1 <A 54 RAE—F> T HBESk I

- BR)RFZvEI-RL—Yar, #3549 5 <Challenge English>
EE QTEE4R I EERARK L HE)

P EIFAE~BRIFENFTELH R 62DLRILOSFERLFANKEEE

HICE->TERLELRIVLTEE, (KRARESMNEL, 202155 E &52~53

2B Y Li-Advanced 2L RNILE FiE)
- ABETIZ, FA2E, "MBEBR (S17RHF) J
TEMIFELER, "325122AE—F> awpmm | ([ asrepm

ERACRCEHTTTUETES Rrrhlipld bkt bOMDTE5 6005

71U ADSACTISAIEADKE ,\; —n
el R

\ o Sy, <DETT
e V=2 TLY R ET, e D)




2. B&

22 7Ab

CHRETVICEIEEEIN (188: 2021F2A8, 288: 2021E8A, 348
F2B),A>54> ETIHE /\;%Em: XF— ’C?:’rbﬂf:o

‘Part A~CDE3 2D/ N— ;SR IN, KRR TIXE L oN=F7—=IC
U TBPR TR R 238X 5% (f1: Which country are you most
interested in?) T SPart B (F13f) RUFAN=T—=I L T1g
[ D thinking timed 5 A 5N 7=1Z IR R 2R 5%/ (4: Some people

think that the ambulance service should be charged. What’s your
opinion on this?) T#h %Part C (GT11/]) OFHET— 9= R L=,




2. F&

Part BORRR (B EI3R)

1. What do you like to do on New Year’s Day?

2. If you had a time-machine, what would you like to do with it? Why?
3. Which do you prefer, traveling abroad or in Japan? Why?

4. If you had enough money, what would you want to get the most?

5. Which country in Asia would you like to visit most? Why?

6. When you want to know today's weather, which do you prefer, reading
newspapers or watching TV news? Why?

nat makes you the happiest?

nich country are you most interested in? Why?

nich would you prefer, being a group leader or a member of a group.

ny?




2. F&

T: Thank you so much. Next, question number 2. Which country are you most interested in?
Why?

S: I'm interested in um, France, France, because um, the country | want to go to in the
future, | want to go to in the future in France, and | want to, um, go to Eiffel Tower, and

eat Escargot.




2. B&
Part CORZE

1. Some people think that Japan should make English its second official
language. What’s your opinion on this? Give one or more reasons why.

2. Some people think that elderly people should return their driver’s
licenses. What's your opinion on this? Give one or more reasons why.

3. Some people think that the ambulance service should be charged.
What's your opinion on this? Give one or more reasons why.




2. F&

T: Alright, time is up. Now please answer. Some people think that the ambulance service

should be charged. What's your opinion on this? Give one or more reasons why?

S: Um, | think, | think the ambulance service shouldn't be, shouldn't be charged, because,
uh, we should help each other when we in emergency. So, ... if we, if the ambulance
service charge, service will, um, service is charged, we can't, people can't use it. Um,
people hesi, people will hesitate to use it when it when they in emergencies. So | think
the ambulance service should be charged, but [, but | think, uh. It is not good thing, um, it

Is not good that we use ambulance service when we were not in emergency.




2. H&

2.3 o

RE LB MENRFET —IEEFIRIL, Bk, EREY, FiGT, B
TEBUI6NIBREAVTOW EIT >/ AS-Unit T 2175 L T,

Foster, Tonkyn, Wigglesworth (2000)5 #2098 L 7= three levels of
application® ) 6, Level 2Z# AL 7=,

BT —IN10% E2ADHREE BT L, ERDBEYEHLEEXE
i

- DT I IZSPSS Statistics 27 AW = 2B DB TH-1=71=8, 7')—
Fo>DREZAW T %177,




2. F&

B (1) pruned token 4%, (2) unpruned token %%, (3) type %, (4) W& RE token %X
EfEs | (5) Y DdH 5 AS-Unit DEIE, (6) 20 Db HFEEROEIS

BHES | (7) AS-Unit 72 0 OERERERIEL, (8) AS-Unit 7=V DHEI%L, (9) AS-Unit &H7- Y
o token %, (10) Lexical variety (type-token ratio)

TGS | (11) MRV IR U7=3E8, (12) BORTEE L7235, (13)1 75 Cih L7=3E%K

ZOfth | (14) AS-Unit %, (15) FEZEZREE, (16) AS-Unit & 7=V O Bkt ik

- unpruned token#i: £HEET — X D OEGE « 7 4 T — &RV ZREK
- pruned token#&: unpruned token7> 5 H CLET1E & OV 0 IR L % FRU NGB
- FEEEE T NN REtoken%X, pruned token#i X 100




75 (Part C) "TE#E DB FHFRMNOEIE,

[ Original script]
Yes. I agree with this opinion. Because the amount of traffic accidents is in, in sharply increase.. when
they.. then driver is olderly people. Because uh.. if ah, they.. they might, a most people 1s um, is
suffering for any sick so they can't driving. That's all.

[unpruned token]

Yes. I agree with this opinion. Because the amount of traffic accidents 1s in, in sharply increase when
they then driver is olderly people. Because if, they they might, a most people is is suffering for any

sick so they can not driving. That is all.
#RYIRL
[ pruned token (analysis)]
¥es- | agree with this opinion. Because the amount of traffic accidents 1s #; in sharply increase when
i driver is olderly people. Because _ a most people s is suffering for any

sick so they can not driving. That is all.
B2&TIEE

[ pruned token (final)]
I agree with this opinion. Because the amount of traffic accidents is in sharply increase when driver is
olderly people. Because a most people is suffering for any sick so they can not driving. That is all.




75 (Part C) "TE#E DB FHFRMNOEIE,

[ pruned token (final)]
I agree with this opinion. Because the amount of traffic accidents is in sharply increase when driver is
olderly people. Because a most people is suffering for any sick so they can not driving. That 1s all.

[ AS-Units]
[ agree with this opinion.
Because the amount of traffic accidents is in sharply increase when driver is olderly people.
Because a most people is suffering for any sick

. they can not driving.
That 1s all.




. %ﬁ%t%?ﬁz

Z D FEEEL FEIR2 AhaEd EfES1 BMESL | EHES2 | HHEE3 | B4 | WGBS | WGBS | WSl | EEE Z Ot
BYOHD No of #E4r No of NO of tokens Lexical H)) HOITE| 1490 No of Z£/7
AS-Unit® E Befe i per | clauses per | variety L7 L7z FEL7 | PEEE Fiiot 7l per
H AS-Unit | Asunit |PErASUNL - rrpy R i K AS-Unit
n.s n.s n.s . n.s n.s : n.s n.s n.s n.s n.s n.s n.s HA > 3HA" n.s

No of AS- | unpruned pruned " N GE
Units token%k token®k token#k

n.s n.s n.s . n.s n.s g o n.s n.s n.s n.s n.s 11 < 241* n.s . n.s

n.s n.s n.s . n.s n.s n.s n.s 247 < 3 n.s n.s n.s n.s n.s . n.s

FREYX) 1HAD S2BAICHMTTPart CTEY D HLEB DL A EIC

EFLU, 28D S3HAICHOTTE T (22(2) =6.33,p <.05) 6

[F23X]) 2880 S3HAICONT T AETAS-Unith =Y DB E N B EICLF
(#2(2) =17.00, p < .05) ,

[Rigx)] 1A 52BN TPart CT BT E2 L=EZENAEICLA
(;(2(2) 10.00, p <.05) .
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Z DAl

‘Eﬂ‘l

_5542

_5544

EfES1

IEfES2

X1

HIHE =2

HEHEX3
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Z DAl
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token#x
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token®k
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tokenZk
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M55

ZHp
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DE A
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No of
clauses per
AS-Unit

No of tokens
per AS-Unit

Lexical
variety
(TTR)

)
L7

PN
AR

HCORTIER
L7z
B

NS
LTz
SE %

No of Z/\7
i per
AS-Unit

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s

n.s
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28 > 3"

n.s

n.s

n.s

n.s

n.s
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n.s

n.s

n.s

n.s

n.s

n.s

n.s
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n.s

28] < 3"

n.s

n.s

n.s

n.s

n.s
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HA A5 28F
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.AERYER

[Part B]
ERTELTRVTNOEEZICBWTLIHANSIBFICHITTEEEZNRS
N hH 7=,

IO

MBI ERIFETH-I=2eBABY, Part BOLHRERBOISE
TIRREDICBEITERHAMRINRON, 160DIERELZALAENLREBE AT
ENELCLH->7/-TREM

fRIRQ
BREOMEL, Part COLSI R FTrI-AE0EBENEBENRDOENT, &2 nF
PRRICE AR BIRFEICB I IRERBED D EICRHEIN MM




.AERYER

[Part C]

SEALZONTTHEEICLER

. ml..*%)‘ (BCETIEX2 L3280 9°1f

A AN 52H 12 H H'—(o)x'ﬂ:.

- FHEX BRYDHBENE|E) H1E

A% 52k

42" 525

IOV TAHAEICET, 285

I T THREICER

°th1nk1ng time*BIATILI-LANBLX2EETHIUHRHON-8,

ERESHME T L9 REE

FHEIIVLTAT T7E2EA, RETEXHRIRTHIUIITA—HRAH YY),
1

-BeETELAEZEEOEMIIRBIICE->TIEoAFATlEH55%, 2inE

NELNDEREHEE=Y—L, Zﬂiji*f{’é‘fﬂ&ﬁ’(iﬂ:%ﬂ%b#
BNTHs z:%ﬁz.bn%




.AERYER

2EAHS3HAIC T THOE AL

W EENDIRIEZRLTIVWKITONTEHLVVAZBIIHLTH SN
EZ-BRZILD,TLI--HENLEFEILIZEBNTE

W FHEIICLYSDBNBEREBEKILITESLF IR (LYK
WAREERILIR A T ES L) 1T >7-) HIREM




4. %&

AKFETIE, BEAABRKRECLZDRAE X2 T HNFES, EREIREMY,
X 16X BLTHOL, BITHE 2T T 5T — I 2187x
L7=,

Part B&Part CENLZENICE W TELRBFERHIH =2 H 5, Skehan and
Foster (1999)4%#8#L=&H 1S, RE—X> 7 HnHEE RSB LTIRY
DL (task structure) X IR F 4 (processing conditions) E KT %
BN HB YD TREINT,




ROBRES1ZDH @M

- 2 fnE ¥
-RBIREDIREABTNEE
AREETH, AEENRON/-IEEBICEBLER 2T, AEEN

Ron2H -7-181F (: No. of Fe il #4527 per AS-Unit, 4" IR LZEED
IS T HEEICIIES DO - T,

B0 Hr (F]: EEIHNBEEMICEDLS ITHELI=DD, R
WEERDCEFRULNIL, BAZRR[74—3I23])DER)
- TF—VICLBERE (%Efﬂ‘ﬁkO)ﬁ i topic familiarity)
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